YEAR 5 NUMERACY - SET 8

1 This is a plan for a small school.
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Which one of the following sentences is true?

The school building is north of the oval.
The vegetable patch is west of the school building.
The bike racks are south of the vegetable patch.

The water tank is east of the school building.
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3 The school hall can fit 15 chairs in a row.
There are 6 rows.

What is the total number of chairs in the hall?

4  Which one of these nets will fold up into a triangular pyramid?

A

5  Which number has the greatest value?

7.3 7.7 7.03 7.37
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Millie continues this pattern to make larger crosses.
How many dots will the 6th cross have?
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Mary pays $6.50 for these five cup cakes.

How much does one cup cake cost?

$1.20 $1.25 $1.30 $1.50
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